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ECONOMICS

( Honours )
Paper : ECO-HC-1016
( Microeconomics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following as directed -
TS TR o SR Te i -
(a) Define a household.
AfREE e fan |

(b) What is producer’s surplus?

TR Tge 3

(¢) Mention one feature of capitalism.

R b1 cafey Srae < |

(d) What do you mean by Pprice rationing?

Price rationing Ffercat & g1 2
20A/575

1x10=10
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(2)

(e) Define marginal productivity of labour.
MR IR Sesneer kel M |
() Fill in the blank :
NGl 513 "B‘T 9 :
MRP; =MPP; x .

(g) For a Giffen good, income effect is
Giffen good-3 9 f{71% 29

(i) positive

SRR
(i) negative
RRIFES
(iii) constant
f&s
(iv) Both (i) and (ii)
TS (i) S (if)
(Choose the correct option)
(9= Rescor i Sfejear )
() Why is the average cost (AC) curve
U-shaped?

TG I (AC) @41 U-Siigploq =y ey o

() Define opportunity cost,
At A sygesl el |
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(3)

() How does technological innovation affect
the supply curve?

aifere wiRkgE @em @IF R gefie
@

2. Write short answers of the
questions :

O I 5 T fira

following
2x5=10

(@) What is meant by property rights?
il ¢k & gom 2

(b) f B=X Py +Y - P,, where B represents
money income of the consumer, Py and
P, represent prices of goods X and Y
respectively, find the slope of the

equation.

MM B=X-Py+Y-B, =, T© B 39
TACSIEN O, Py 9F B, ¥4 @ X 9% Y
T3 MW, FRISICCOR BT Sferea |

(c) State two exceptions to the law of
demand.

vtz Rfgs o1 e fora |

(d) Mention two government policies to
enhance competition in the market.

RS Afecfaer 3% $R /1 o seeRt [
TCEY 341 |
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(4 )

(e) Point out two characteristics of labour
market.

XN ISR o1 ¢ake fers |

3. Answer any four of the foilowing questions :
5x4=20

TS 2RI R 1 iR Ted o4

(a) Discuss the basic economic problems
' faced by an economy. S

G EYHCe 3 T GLARSS AR
ST AT |

(b) Briefly explain the principle of

diminishing marginal rate of
substitution. What role does it play in
shaping indifference curves?  3+2=5

mmmwmmww
1| e @ o e 2 g oz
I ?

(c) Distinguish between bar diagram and
histogram. 5

we foq e guras AL [el w91 |
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(5)

(d) What is cross-elasticity of demand? How
do you infer about the nature of two
goods on the basis of cross-elasticity of
demand? , 2+3=5

v fofe RfSgee R v fofe

ffegrren ffee B v 27fS Rca <M
RiSRIN:

(e) Explain how an 'income-consumption
curve of a consumer consuming two
products is derived. \ S
7ol TR Toesldl T ToerE GwE WE-
Tocersl {1 fewes [efT 391 =, w340

() Explain the various factors responsible
for the shift in the demand curve of an
individual consumer. | 5

ISR Toreer o @ TEERe F40
fRfSa TRT@R I 741 |

4. Answer the following questions : 10x4=40
o9 2CAIR T fe

(a) Discuss the scope of Economics. State
the basic assumptions of Economics.

6+4=10
wfleme e s 901 SfRwmw @
NISECICICRCRIN
20A/87S ~ (Tum Over)
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(6)

Or / 94/

Critically discuss the marginal
productivity theory of labour. 10

1T A TeAmRIETel Ogq FACEACAGE 0
RG] | i

(b) Explain the behaviour of a profit
maximizing firm in the short-run. 10

ZHIEAN IO G S AT ARSI
HI6IT A 4T |

Or / 9241

Distinguish between direct tax and
indirect tax. Show the impact of
imposition of a sales tax on market
equilibrium. 4+6=10

doTH TN WE AT TR AT BEi 1 qwR
TRANA o & 9 SR 2o e |

() Explain how price effect of change in
price of a good can be decomposed into
income effect and substitution effect. 10

9Bl TR wq ReEH W@ Roe v s Ree
HIF Afepge RoFe S/ 1R, I 341 |

20A/575 ( Continued )

Scanned with CamScanner



(7))

Or / %4l

Show the trade-off between work and
leisure at different levels of wage rates.
Why is the labour supply curve backward
bending? 6+4=10

Rfen TgRe 290 o @ R aefe
CTLE | A7 QoM 31 FPgeleet e o 2

(d) Show that average cost 1is the
combination of average fixed cost and
average variable cost. Write a note on the
slope of the average variable cost curve.
Also explain the relationship between
average cost and average variable cost -
curves. 4+3+3=10

Gl & 1% W 2 9% 7w I| e s
ARSI IR Q@1 | S RS
(IF TER 890 9t GRT foran 1 sfs iy e
STT “[{ES I @R TECO1S T 911 |

Or / G41

Discuss the rationale behind regulation
of monopoly practices. What role do
antitrust policies play in monopoly
regulation? 7+3=10

GIOofon I fiygd 97 IR Sice
A gFeofen e REETS  T-Ree@t

ST s gt o 9
| * ok
20A—6000/575 3 (Sem-1/CBCS) ECO HC 1

Scanned with CamScanner



